7.5 Example 4

Example 4

Using the Sum and Difference Identities
to Solve an Equation

Solve the equation sin 5x cos 3x — cos 5x sin 3x = 1 over the domain
0 < x < 2w

4. Solve the equation
cosdxcasx + sindxsiny = 1
overthedomain 0 < x < 2.

A 0§ (Ux-X) = 1

SOLUTION

sin 5x¢os 3x — cos Sxsin 3x = 1

coS 3X = 1 sin (52 — 3x) = 1

sin2x = 1

3X = O,ZT[,H'TC... The given domain for angle xis0 < x < 2m,

so the domain for angle 2xis 0 < 2x < 4.
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The roots are: x = %randx =

generql solytion :
x=n nez

R . e ]
Discuss the Ideas

1. How do you know whether you can use a sum or difference identity to
determine the exact value of a trigonometric ratio of a given angle?

A

2. What strategies do you have for remembering the sum and difference
formulas?

A
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More examples:

Solve each equation over the domain 0 < x < 2m. Then state the general solution.
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